Js3

(mod 3)

blocks | defect | matrix

3.G: 1 6 40 x 8
2 2 9x2

3 1 3x1

4 1 3x1




Block 1: | o1 92 @3 w1 ©5 Y6 P71 P9
11 = X1 1 .
851 = X2 1 1 .
852 = X3 1 . 1 .
3231 = X4 2 1 1 1 .
3232 = x5 2 . 1 1 . 1
6462 = xs 1 . 1 1 1 1 2
8161 = x9 . 1 1 1 1 2 2 .
11401 = x10 2 1 1 1 1 . . 1
16157 = x13 3 1 1 2 2 1 1 1
19201 = x14 2 1 1 2 2 2 2 1
19202 = x15 2 1 1 2 2 2 2 1
192035 = x16 2 1 1 2 2 2 2 1
1938 =x17 | 2 2 1 2 2 2 2 1
19382 = x1s 2 1 2 2 2 2 2 1
181 = x22 1
18, = X;él 1 .
183 = x23 1
18, = x3i! 1 :
1531 = X24 1
1539 = x4t 1 .
1533 = x25 1
1534 = X;él . . . 1
1711 = X26 3 1 1
1Tl =x32 | 3 . 11 .
1713 = X271 1 1
1714 = X;%l 1 . 1 .
].7].5 = X28 1 1
Tle=x3* . . 1 . . . 1 .
15307 = x32 2 1 1 1 2 1 1 1
1530 =x33° 2 1 1 1 2 1 1 1
15303 = 33 2 1 1 2 1 1 1 1
15304 = X§§O 2 1 1 2 1 1 1 1
27361 = X34 2 2 2 3 3 4 4 1
27360 =x31| 2 2 2 3 3 4 4 1
29071 = X36 5} 2 2 4 4 4 4 1
29075 = X§<23 5 2 2 4 4 4 4 1
3060 =x37| 4 2 2 3 3 2 2 2
3060 =x32| 4 2 2 3 3 2 2 2

®1
P2
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181
18,
844
845
1534
1532
934,



Block 2: Y8 P12
3241 = X6 1 .
27541 = X20 . 1
30781 =x21| 1 1
3245 = x29 | 1
3245 = x32 | 1 .
27545 = X35 1
25y =2 | . 1
30782 = x38 1 1
3078 =x3 | 1 1
Block 3: $10

12151 = X11 1

12153 = X30 1
1215, = x335 | 1

Block 4:

12155 = x12 | 1

12155 = x31 | 1
12156 =33 | 1

®8
P12

©10

P11
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27544

1215

1215,



